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N.B. (1) Answer any three queétions from each section.
(2) Figures to the right indicate full marks.

Section |
1. (a) What is Business ? Explain the functions of business. 8
(b) Discuss the factors contributing to the glabolisation. 8
2. (a) What are the problems of Private sectors in India ? 8
(b) Explain the features of good objectives. 8
3. (a) What do you mean by “Economic Objectives” ? Explain it in detail. 8
(b) What is Co-operative Society ? Explain its features. 8

4, (a) Define the term “Business Environment”. Explain the features of business 8
environment.
(b) Discuss in detail the impact of education on business. 8

5. Write short notes on the following (any three) :— 18
(a) Liberalisation
(b) Three fold objectives
(c) Measures to control pollution
(d) Public sector
(e) Career options to Commerce student.

Section i
6. (a) What is feasibility report ? Explain the need of feasibility report. 8
(b) Briefly explain the steps involved in setting up of new business unit. 8
7. (a) Explain the main indicators of growth. 8
(b) What do you mean by the term industrial sickness ? Explain the symptoms of 8
industrial sickness."
8. (a) Define the term Multinationals (MNC’s). Explain the merits of multinationals. 8
(b) What is ethics in business ? Explain its importance in business. 8
9. (a) State and explain the various rights of consumers. 8
(b) What is corporate image ? Explain the benefits of corporate image. 8
10. Write short notes on the following (any three) \— 18

(a) Turnaround

(b) Joint venture

(c) Role of NGO’s

(d) Promoter

(e) Need for diversification of business.
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(3 Hours) [ Total Marks : 100
N.B. (1) All questions are compulsory.

(2) Figures to the right indicate full marks.
(3) Tie both the sections together.

Section |
Explain the following terms (any five) :— 10
(a) Business (e) SAARC
(b) Three fold objectives (i Micro Environment
(c) Mission (gy Takeover.
(d) Diversification
Answer any three of the following :(— 30

(@) What is business ? Explain the importance of business to society.

(b) Describe the inter-relationship between Business and its Environemental.

(c) Enlist the types of business objectives. Explain economic objectives in detail.
(d) What do you mean by Turnaround 7 Explain the steps involved in turnaround strategy.
(e) Discuss the challenges faced by Indian Entrepreneurs now a days.

() Define the term foreign collaboration. Explain the types of foreign collaboration.

Study the case in detail and answer the following questions :—

General Electric has streamlined its policy to enter into Indian through the joint venture route.
GE entered the Indian appliances market in association with Godrej. The joint venture included
technological and financial tie-up. A new company was floated called Godrej-GE appliances.
The agreement stated that the Godrej will hold 60% of the equity and GE appliances 40%.
It was mutually worked out that Godrej brand of refrigerators will continue and in addition
the entire range of GE brand of home appliances. The company will start with the production
of refrigerators and washing machines. Later it will start manufacturing and marketing microwave
ovens, air conditioners and cooking range. Godrej transfer its refrigerators business to the
joint ventures with the condition that the Godrej brand will continue under the new agreement.
Questions :

(a) How GE made inroads into India through joint venture ? ) 5
(b) Has joint venture benefited both GE and Godrej ? 5
Section |l

Explain the following terms (any five) :— 10
(a) ATM (e) Ethics in retailing
(b) Universal banking (f) FED.L
(c) Tourism (g) E-communication
(d) B.PO. (h) Insurer,

Answer any three from the following :— 30

(a) What do you mean by Customer Relationship ? Explain its features.

(b) Enlist the principles of Insurance. Explain them in detail with suitable examples.

(c) What are measures undertaken to promote tourism and hospitability industry in
India ? Explain. ) .

(d) What are the different types of transport ? Explain railway transport's current scenario
in India.

(e) Discuss the factors responsible for growth of organised in Retailing in India.

(f) State the advantages and limitations of B.P.O.s.

Study the case in detail and answer the following questions :—
Ramakrishan retired from service only last year. As expected, he is facing financial crunch
with spiral raise in cost of living. These days he is worried man. He has received a letter
from his bank informing that bill payments via ECS (Electronic Clearing System) to utility
service providers like MTNL, Reliance Energy eic. now attract a bank fee of Rs. 112 per
year for each service provider.
Ramkrishan has been paying four bills viz. MTNL, Reliance Eneregy, LIC and Mahanagar
Gas via ECS. He will now have to pay this bank Rs. 448 per year as a fee to pay bills. He
tells himself why should, continue to use ECS facility when dropping a cheque in a drop
box does not cost me a paisa ? Moreover ECS cuts down on paper work for banks.
in that case, why charge a fee for the same ? He decides not to shell out extra amount to
pay his service provider.
Questions :
(a) What is ECS ? s it in favour of consumers ? o 5
(b) s this new fee levied by the bank in accordance with RBI guidelines ? 5

[ TLHIRN OVER
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N.B. (1) From Section | Question Nos. 1 and 2 are compulsory and attempt any one
question from Question Nas. 3 and 4.
(2) From Section Il Question Nos. 5 and 6 are compuisory and attempt any one
question from the Question Nos. 7 and 8.
(3) Figures to the right indicate full marks.
(4) Working notes should form part of your answer.

Section |

1. Karan and Aditya were in a partnership in a retaii business sharing profits and losses in 18
the proportion of 3 : 2. As from 1st April 2010 they admitted Ashish into partnership giving
him one-fifth of the profits. Ashish brought in Rs. 32,000 in cash of which Rs. 6,000 were
considered as being in payment for his share of goodwill and remainder as his capital.
The following trial balance was extracted from the books as on 31sl March, 2011 :—

Dr. (Rs.) Cr.(Rs.)
Purchases 27,160 —
Sales — 41,265
Sales Returns - 525 -
Purchase Returns — 410
Reserve for doubtful debts N 1,520
Sundry Debtors na 44,020 —
Sundry Creditors " — 12,653
Bills Receivable 12,007 —
Bills Payable 1,195
Stock (1st April 2010) 3,972
Carriage inward 1,718 EH
Office Salaries 980 — |
Furniture 2,050 s
Postage, Stationery and Insurance 1,393 —_
Rent, rates and taxes 420 " -
Bad debts 64 | — |
Outstanding wages . ' 120
Rent accrued but not paid et 90
Capital Accounts (1st April 2010) : '

Karan — 21,500
Aditya T 21,000
Cash paid by Ashish on 1st Aprit2010 [ — | 38,000 |

Current Accounts : , N
Karan 7 5500 | e
Aditya 5,200 B -
Ashish o T 12200 | —

Cash in Hand | 20,444 —

Total 1,37,653 | 1,37,653

Your are required to prepare the firm's Trading and Profit and LLoss Account for the
year ending 31st March 2011 and Balance Sheet as on that date having regard to
the following information —

(a) Stock at the end was Rs. 20,000.

(b) Sundry debtors include item of Rs. 500 for goods supplied o Karan and item



)
(d)
()

vepievidauull Uil idirnwie 1s 1o ve ciidiyeu di 1v7o pel dilniuiil.
Reserve for doubtful debts is to be maintained at 5% on the sundry debtors.
Goods to the value of Rs. 500 have been destroyed be fire and the insurance

company has admitted to claim for s. 200 only.
(f) Bills receivable include a dishonoured bill of Rs. 500.

Rewrite the following statements and then State with reasons whether they are

true OR false :—

(i)
(il
(iii)
(iv)

(vi)
(vii)
(viii)

(b)

On dissolution of a firm there cannot be any profit or loss on Realisation
as all the assets are sold.

Goodwill is intangible asset and therefore worthless and it cannot be
sold when the firm is dissolved.

If the partnership firm incurs loss then there is no need to provide
depreciation.

In dissolution of firm, profit on realization can not be credited to an
insolvent partner.

Interest on partners’ loan can not be paid.

in piecemeal distribution of cash, reserve for contingent liabilities is created
before payment of any liabilities.

Salary to a partner can be paid only if he has contributed more capital
than other partners.

Personal expenses of partners can be debited to profit and loss A/c. if
they are not allowed any drawings.

Sneha and Sejal carry on a partnership business under the name M/S fine co-

ordinators. They share profits and Losses in the ratio 3 : 2. Radha is admitted
as partner in the firm who bring in Rs. 5,00,000 as her of Capital out of which
60% is regarded as Goodwill. Give journal entries for Goodwill brought in by
Radha, in the following circumstances :—

(i)
(if)
(i)

(iv)

New profit sharing ratio between Sneha and Sejal and Radhais 2 : 1 : 1.
Radha is admitted for one-fourth share in future profit.

Radha is admitted with one-fifth share in future profits which she acquires
equaily from Sneha and Sejal. |

Radha is admitted for one-fourth share in future profit which she acquires
from Sneha only. :

3. Avani, Binal and Cindy are partners sharing profits and losses in the ratio of 4 : 2 : 1.
They decided to dissolve the partnership as on 31st March 2011 when their Balance
Sheet was as follows :—

Balance Sheet as on 31st March 2011

Liabilities Rs. Assets Rs.
Creditors 16,800 Cash in hand 500
General Reserve 9,800 Investment 16,000
Capital : Avani 16,000 Machinery 38,740

Binal 32,000 Debtors 6,520
Cindy 26,000 Building 980
Furniture 37,860

1,00,600 1,00,600

All creditors have to be paid off. Rs. 300 has to be provided for realization expenses.
Thereafter all cash received should be distributed among the partners. The amounts
were realized in installments as follows :—

Rs.
1st 20,000
2nd 3,500
3rd 46,000

16
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The actual realization expenses were Rs. 500. Prepare a statement showing piecemeal
distribution of cash as per Excess Capital Method.

4. Ajay and Vijay were partners in a firm, sharing profits and losses in the ratio of 16
- 3 : 5 respectively. On 1st April 2011, their Balance Sheet was as follows :—

Liabilities Rs. Assets Rs.
Creditors 25,000 Machinery 60,000
General Reserve 5,000 Stock 40,000
Ajay’s Capital A/c. 60,000 Debtors 36,000
Vijay's Capital Alc. 50,000 Cash- 4,000
, 1,40,000 1,40,000
. - Dhananjay was admitted as a partner in the firm on the same date on following terms :—

(1) He shall have %th share in the goodwill and profits of the firms, which is
acquired in equal proportion from Ajay and Vijay.
(2) He shall bring Rs. 40,000 as his Capital and Rs. 20,000 as his share of
{ - goodwill.
(3) Ajay and Vijay to withdraw 50% of the amount of goodwill due to them and
| allow the balance to remain in the business.
| (4) Machinery is valued at Rs. 40,000. Stock is depreciated by 10% and a Reserve
| for doubtful debts of Rs. 1,000 to be created.
i (5) An amount of Rs. 6,000 included in creditors is no longer a liability.
You are required to prepare :(—
(a) Revaluation A/c.
(b) Cash Alc.
(c) Partners Capital Accounts
(d) Balance Sheet after Dhananjay’'s admission.

; \ Section Il

L 5. A & Co. and C & Co. decided to amalgamate on the following terms and conditions 18

‘ on 1st April 2012 when their Balance Sheets were as follows :—

[ Particulars H &Rcst.:- & &R(;‘.)' Particulars A &Hi?. . &R(:_)'
A’s Capital 6,000 — Buildings 5,000 —_
B's Capital 3,000 — Furniture 600 1,000
C’s Capital — 3,300 Investments — 2,000
D’s Capital - 2,200 Stocks 3,000 2,600
Creditors 1,000 1,500 Debtors 2,000 2,400
Bank Loan 2,000 2,500 Cash at Bank 1,400 1,500

12,000 9,500 12,000 9,500

Terms of amalgamation :—
(1) In case of A & Co.
(a) Goodwill was valued at Rs. 3,000
(b) A & B Co. should pay its Bank Loan.
(c) Building was taken to be worth Rs. 6,000
(d) Stock to be valued at Rs. 2,500.
(2) In case of C & Co.
(a) Goodwill was valued at Rs. 2,000
(b) Investments were not taken over by the new firm.
(c) Stock was valued at Rs. 1,880.
You are required to show necessary ledger accounts in the books of A & Co., C &
Co. and prepare Balance Sheet of New firm after Amalgamation.



6.

(@) Fill in the blanks :—
(i) The buyer becomes the owner of the goods on payment of last installment

under system.

(ii) The hire purchase system considers each installment as hire charges
for ___of the goods by the hire purchaser until the payment
of last installment.

(iii) Memorandum trading account is prepared to find out ____ on
the date of fire. ‘

(iv) Damaged goods are called as goods. ;

(v) Branch accountis a account under debtors system.

(vi) Under debtors system opening branch assets are shown on the __

side of the branch account and Closing branch assets are shown on
the _ of the branch account.
(vii) Goods sent on consignment account is a _ _____account.
(b) Give one Word/Phrase/Term for the following :—
(i) Sale or scrap value of goods saved from fire.
(i) Clause applicable if the goods are under insured.
(iii) Branch which maintains complete record of all accounting transactions
at the location of the branch itself.
(iv) The price at which goods are sent to the branch.
(v) The new firm formed after amalgamation.
(vi) The amount payable by the new firm to the old firms.
(vii) The person receiving the goods on consignment.
(viii) Document prepared by consigner showing description of goods being
consigned (in quality, rate and value).

7. Patil Associate purchased Computer from Sangita Comp. Ltd. on instalment system

8.

on 1st January 2009, Rs. 1,00,000 were paid on signing the contract and the balance
in three instaliments of Rs. 1,00,000 each on 31st December every year. The cash
price of the Computer was Rs. 4,50,000. Interest charged by the seller was at 5%
per annum.
Patil Associates charges depreciation @ 25% p.a. on w.d.v. method on Computer on
31st December every Year. Prepare —

(a) Computer A/c.

(b) Sangita Comp. Lid. Alc.

(c) Interest Alc.
in the books of Patil Associates Sons for the Accounting Years 2009, 2010 and 2011.

On 16th June 2011 the premises of Balan were destroyed by fire, but sufficient records
were saved from which the following particulars were found :(—

Particulars Rs.
Stock (1-1-2010) 50,000
Stock (31-12-2010) 70,000
Purchases (2010) 4,74,000
Sales (2010) 6,00,000
Purchases (1-1-2011 to 16-6-2011) 1,50,000
Sales (1-1-2011 to 16-6-2011) 2,05,000

In valuing the stock for the Balance Sheet at 31-12-2010 Rs. 4,000/- had been written
off certain stock having cost Rs. 9,000. Half of this goods were sold in March, 2011
for Rs. 5,000. The balance is estimated to be worth the original cost. Subject to
this exception, gross profit had remained at uniform rate. The stock salvaged was
worth Rs. 9,500. Show the amount of claim to be lodged with the insurance Company.

16

16
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N.B. (1) Question No. 1 is compulsory and attempt any five questions from Question
Nos. 210 9.
(3) Figures to the right indicate full marks.
(4) Working notes should form part of your answer.

1. Karan and Aditya were in a partnership in a retail business sharing profits and losses in 20
the proportion of 3 : 2. As from 1st April 2010 they admitted Ashish into partnership giving
him one-fifth of the profits. Ashish brought in Rs. 32,000 in cash of which Rs. 6,000 were
considered as being in payment for his share of goodwill and remainder as his capital.
The following trial balance was extracted from the books as on 31st March, 2011 :—

Dr. (Rs.) Cr.(Rs.)
Purchases 27,160 —
Sales — 41,265
Sales Returns 525 —
Purchase Returns —_— 410
Reserve for doubtful debts ——— 1,520
Sundry Debtors 44,020 —
Sundry Creditors — 12,553
Bills Receivable 12,007 —
Bills Payable — 1,195
Stock (1st April 2010) 3,972 —
Carriage inward 1,718 —
Office Salaries 980 —
Furniture 2,050 —
Postage, Stationery and Insurance 1,393 —
Rent, rates and taxes 420 —
Bad debts 64 —
Outstanding wages — 120
Rent accrued but not paid — 90
Capital Accounts (1st April 2010) :
Karan — 21,500
Aditya — 21,000
Cash paid by Ashish on 1st April 2010 — 38,000
Current Accounts :
Karan 5,500 —
Aditya 5,200 e
Ashish 12,200 —
Cash in Hand 20,444 —
Total 1,37,653 1,37,653

Your are required to prepare the firm’s Trading and Profit and Loss Account for the
year ending 31st March 2011 and Balance Sheet as on that date having regard to
the following information :—
(a) Stock at the end was Rs. 20,000.
(b) Sundry debtors include item of Rs. 500 for goods supplied to Karan and
item of Rs. 100 due from customer on account of sales, who has become
insolvent.

[ TURN OVER



(c) Depreciation on furniture is to be charged at 10% per annum.

(d) Reserve for doubtful debts is to be maintained at 5% on the sundry debtors.

(e) Goods to the value of Rs. 500 have been destroyed be fire and the insurance
company has admitted to claim for s. 200 only.

(f) Bills receivable include a dishonoured bill of Rs. 500.

2. Pragati & Co. Ltd. issued 5000 shares of Rs. 100 each at par. The share amount was 16

payable as follows :— :

On Application Rs. 30

On Allotment Rs. 50

On First and Final Call Rs. 20
The public applied for 5,500 shares. Applications for 100 shares were immediately
rejected. In respect of applications for 5400 shares, directors decided that 5000
shares would be allotted on pro rata basis and the application money received on
400 shares would be used towards payment of allotment money.
All allotment and call money was received. :
You are required to give necessary journal entries (including cash transactions) in
the books of Pragati and Co. Ltd.

3. Avani, Binal and Cindy are partners sharing profits and losses in the ratioof 4 :2:1. 16
They decided to dissolve the partnership as on 31st March 2011 when their Balance
Sheet was as follows :—

Balance Sheet as on 31st March 2011 =

Liabilities Rs. Assets : “Rs.
Creditors 16,800 Cash in hand siaaakl 500
General Reserve 9,800 Investment ; 16,000
Capital : Avani 16,000 Machinery " 38,740

Binal 32,000 Debtors ' 6,520
Cindy 26,000 Building g 980
| Furniture 37,860
1,00,600 1,00,600

All creditors have to be paid off. Rs. 300 has to be provided for realization expenses.
Thereafter all cash received should be distributed among the partners. The amounts
were realized in installments as follows . —

Rs.
1st 20,000
2nd 3,500
3rd 46,000
4th 24,000

The actual realization expenses were Rs. 500. Prepare a statement showing piecemeal
distribution of cash as per Excess Capital Method.

4. Jimmy traders gives you following information regarding one of their stores item for 16
the month of March, 2012 :— '
March 1 Stock in hand 500 units @ Rs. 90.
Purchases :

March 3 | 1,500 units @ Rs. 110 each

March 6 1000 units @ Rs. 120 each

March 10 600 units @ Rs. 100 each

March 21 500 units @ Rs. 120 each

March 30 400 units @ Rs. 130 each
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Issues :

March 2 400 units

March 9 - 500 units

March 16 900 units

March 23 500 units

March 31 600 units
Calculate the cost of goods sold and closing stock under FIFO method of stock
valuation. :

5. A & Co. and C & Co. decided to amalgamate on the foIloWing terms and conditions 16
on 1st April 2012 when their Balance Sheets were as follows :—

Particulars A &R(:.). ¢ &RC:. Particulars A &H(:-.‘.L & &Fg?.
A’s Capital 6,000 — Buildings 5,000 —
B's Capital 3,000 = Furniture 600 1,000
C’s Capital — 3,300 Investments — 2,000
D’s Capital — 2,200 Stocks 3,000 2,600
Creditors « 1,000 1,500 Debtors 2,000 2,400
Bank Loan 2,000 - 2,500 Cash at Bank 1,400 1,500
12,000 9,500 12,000 9,500

Terms of amalgamation :(—
(1) In case of A & Co.
(a) Goodwill was valued at Rs. 3,000
(b) A & B Co. should pay its Bank Loan.
(c) Building was taken to be worth Rs. 6,000
(d) Stock to be valued at Rs. 2,500.
(2) In case of C & Co.
(a) Goodwill was valued at Rs. 2,000
(b) Investments were not taken over by the new firm.
[ (c) Stock was valued at Rs. 1,880.
- You are required to show necessary ledger accounts in the books of A & Co., C &
i Co. and prepare Balance Sheet of New firm after Amalgamation.

[ 6. M/s. DIf Tyres gives you following information for the month of January, 2012 :— 16
| Cash Book (Bank Column)
2012 Rs. 2012 Rs.
Jan. 1 To Balance b/d. 900 Jan. 2 By Sheth 300
8 To Raut 420 6 By Priya 120
10 To Gauri 1,200 8 By Ajay 20
15 To Parekh 1,560 12 By Leena 240
22 To Nitin - 200 16 By Madhu 800
28 To Harish 480 22 By Metha 600
31 To Tashan 600 24 By Kapoor 80
’ 28 By Wages 500
30 By Barbie 300
31 By Lalan 160
31 By Balance c/d. | 2,240
5,360 5,360




9.

DdliR Oldilemnmernt

2012 Debit (Rs.) | Credit (BRs.) | Balance (Rs.)
Jan. 1 | To Balance b/d. — — Cr. 900

6 | To Sheth 300 — 600

10 | To Priya 120 — 480

12 | By Raut —- 420 900

13 | To Ajay 20 — 880

14 | By Gauri = 1,200 2,080

15 | To Bank Charges 10 —_ 2,070

15 | To Leena 240 — 1,830

19 | By Parekh —- 1,560 3,390

20 | To Madhu 800 — 2,590

- 25 | By Nitin — 200 2,790
28 | To Kapoor 80 — 2,710

. 29 | To Wages 500 s 2,210
31 | To Club Subscription 200 — 2,010

Prepare Bank Reconciliation Statement as on 31st January 2012.

Patil Associate purchased Computer from Sangita Comp. Lid. on instalment system 16

on st January 2009, Rs. 1,00,000 were paid on signing the contract and the balance
in three instalments of Rs. 1,00,000 each on 31st December every year. The cash
price of the Computer was Rs. 4,50,000. Interest charged by the seller was at 5%
per annum.
Patil Asscciates charges depreciation @ 25% p.a. on w.d.v. method on Computer
on 31st December every Year. Prepare —

(a) Computer Alc.

{b) Sangita Comp. Ltd. A/c.

(c) Interest Alc.
in the books of Patil Associates Sons. for the Accounting Years 2009, 2010 and 2011.

Prepare the Trial Balance of M/s. Kataria and Sons as on 31st March 2012 from the
following information. Any difference in the trial Balance should be treated as bank

balance or bank overdraft.

Particulars Rs.
Capital 10,000
Stock on 1st April, 2011 2,000
Land and Building 8,000
Sundry Debtors 4,060
Bills Payable 800
Purchases 12,000
Sales 14,000
Furniture 6,600
Returns Inward 200
Returns Outwards 500
Drawings 300
Sundry Creditors 10,000
Salaries 1,100
Wages 1,000
Insurance 300

~ General Expenses 200
Commission received 300
10% lLoan Cr. Balance 1,000
Interest on Loans 40
Bad debis 100
Advertisement 800

|__Reserve for doubtful debts 100

Write short notes on (any four) :—
a) Share forfeiture

b)
c
d

o

-

Purchase consideration

— i —
™

Types of leases

Advantages of computerized accounting

() Bank reconciliation statement.

Weighted Average method of stock valuation

16

16
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(3 Hours) . [Total Marks : 100

N.B.: (1) Attempt any five questions.

(2) Figures to the right indicate full marks.

1. (a) Who is a Company Secretary ? State his duties. 10
(b) Distinguish between a Private company and a Public company. 10
2. (a) What is “Memorandum of Association” ? Describe its clauses. 10
(b) Discuss the requisites of a valid meeting of a company. 10
3. (a) What is “Prospectus” ? What are its contents ? 10
(b) "Explain different types of Shares. 10
4. (a) What is transfer of shares ? Describe in detail the procedure of transfer of shares. 10
(b) When can a company forfeit its shares ? 10
5. (a) What are rights and powers of an Auditor of a company ? 10
(b) What is a Share Certificate ? What are its contents ? 10
6. (a) Explain differents methods of voting. 10
(b) What is a ‘proxy” ? What are his powers ? 10
7. (a) What are duties and powers of the Chairman of company ? 10
(b) Explain procedure of making call. 10
8. Distinguish between any two of the following :— 20

(a) Agenda and Minutes

(b) Equity Shares and Preference Shares
(c) Motion and Resolution

(d) Dividend and Interest.

9. Give specimen of any two of the following - 20
(a) Letter of Allotment
(b) Call Reminder
(c) Dividend Warrant
(d) Notice of Annual General Meeting.

10. Write short notes on any four of the following :— 20
(a) Underwriting of Shares
(b) Managing Driector
(c) Debentures
(d) Register of Members
(e) Board Mesting.
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N.B. : (1) Attempt all questions.

(2) Figures to the right indicate full marks.
(3) Tie the answerbooks of both the sections together.

Section |

1. What is contract ? If there is breach of contract, what remedies are available to 14
aggrieved party ?
OR

1. Write short notes on any three :—

(a) Quantum Merit

(b) Modes of Discharge of Contract

~ (¢) Wagering Contract
(d) Capacity of Contract
(e) Consideration.

2. Who can be appointed as agent ? State rights and duties of agent. 12
OR
2. Write short ntoes on any Two -
(a) Contract of Guarantee
(b) Types of Agents
(c) Bailment
(c) Co-sureties.

3. State the rules of delivery of goods. 12
OR :
3. Write short notes on any two :—
(a) Unpaid Seller
(b) Hirepurchase
(c) Rights of Buyer
(d) CIF Contract.

4. Distinguish between Promisary Note and Bill of Exchange. 12
OR
4. Write short notes on any two :—
(a) Cheque and Crossed Cheque
(b) Presentment for Acceptance.
(c) Indorsement
(d) Hundi.

[ TURN OVER
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Section I

5. Define '‘Prospectus’ and state the civil and criminal liabilities for mis-statementin 15
the prospectus.
OR
5. Write short notes on any three :—
(a) Features of Company
(b) Company Limited by Guarantee
(c) Contents of Memorandum of Association.
(d) Promoter
(e) Appointment of Directors.

6. State the rights of a partner and discuss when can a person ceases to be a partner. 13
OR
6. Write short notes on any two -
(a) Dissolution of Partnership Firm
(b) Difference Between Partnership and Company
(c) Minor as a Partner
(d) Property of Firm.

7. Who can become a member of co-operative society ? Describe the different types 12
of membership of co-operative society.
OR
7. Write short notes on any two :—
(a) Share Certificate of Society
(b) Rights of Members
(c) Co-operative Court
(d) Powers of Registrar of Co-operative Societies.

8. Who is consumer ? Why he needs protection ? 10
OR
8. Write short notes on any two -
(a) Role of National Commission
(b) Restrictive Trade Practices
(c) Services of Potential User
(d) Consumer Goods.
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(3 Hours) [ Total Marks : 100

S e Cormnmesce ~¥ g~ -1 2

: (1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. (a)

Section I

Explain the following terms any four ;-
(i) Marketing (i) E commerce
(iii) Marketing Mix (iv) Niche Marketing
(v) Industrial Goods (vi) Inventory.

* State giving reasons whether the following statement are True Or False (any three) :~

(i) Market segmentation helps in product positioning.
(i) Perishable goods require longer channel of distribution.
(i) MIS and MR are substitutes for each other.
(iv) Marketing and selling are same.
(v) Primary data is collected from the various reports.

Distinguish between marketing and selling.

Distinguish between skimming pricing and penetration pricing.
OR

Explain the determinants of marketing channels.

- Explain the main features of rural marketing.

Define product. Explain product life cycle.

Discuss the components of marketing mix.
OR

What are the types of Advertising ?

Explain the limitation of E-commerce.

What are the difference types of consumer goods ?
What are bases of Market segmentation ?
OR
Explain the essentials of M.I.S.
Explain the important method of Pricing.

Section 11

5. Explain the terms (any seven) -

6. (a)
(b)

(a) Merger (b) SEBI

(c) Capital Plan (d) Factoring

(e) Fixed Capital (f) Over Capitisation
(g) Leverage Ratio (h) Private Placement
(i) Primary Market.

Explain the scope of Financial Management.

Explain in brief; the role of Lending Institutions.
OR

Explain the functions of SEBI.

Explain the advantage of working capital.

Discuss the functions of stock exchanges.
What are the problems of Capital Market ?
OR
Write a note on Dematerialized Trading.
Discuss the development of Capital Market in India.

Explain the main sources of Fixed Capital.

Explain the factors influencing capital structure.
OR

Discuss the effect of under capitalization.

Explain the importance of Ethics in Business.
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Con.10-CM-2277-12. 3
(REVISED COURSE)

(3 Hours ) [ Total Marks : 100

N.B. : (1) All questions are compulsory.
(2) Flgures to the right indicate full marks.

Section I

1. Explain the following terms any five -

(a) M.B.O. (b) Decentralisation
(c) Order (d) Policy

(e) Quality (f)  Organisation

(g) Span of Control (h) Departmentation.

2. Answer any three from the following i~
(a) Define Management. Explain its importance.
(b) Explain the essentials of good plan.
(c) Explain the objectives of inventory management.
(d) Explain the techniques of Quality Control.
(e) Explain steps in production planning and control.
(f) Distinguish between Formal and Informal Organisation.

3. Write short notes on (any two) :~
(a) SO 9000
(b) Management is an Art or Science
(c) Deligation of Authority
(d) Principles of Management.

Section II
4, Explain the following terms (any five) -
(a) Risk Capital (b) Money Market
(c) Broker (d) Merchant Banking
(e) Working Capital (f) Capital Structure
(g) Credit Rating (h) Debentures.

6. Answer any three from the following :-

(a) Explain the two fold objective of Financial Management.
(b) Write sources of fixed capital.
(c) Explain the role of Stock Exchange.
(d) Explain the concept of Trading on Equity.
(e) Explain functions of SEBI.
)

What is Investor's Protection ? Enumerate problem faced by Investors.

6. Case Study:-

“Logan” is a large firm, which is existance for 60 years. It has 5 plant in 5 states of
India. ‘Logan’ is on Expansion mode. In 2010, the company did not go for expansion.
In this year, it has generated a net profit of Rs. 1000 Crore. The Board has decided to
increase shareholders value by distributing the entire profit to the shareholders. Historically
it transfers about 25% of his net profit to reserves as retained earning.

(a) What are alternative sources of increasing shareholders wealth ?
(b) How improve the goodwill in market ?

10

30

10

10
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Con. 7-12. (LD COURSE) UM—Z100 | ©)

SYRZ(orn (3 Hours) [~CoO -1 [Total Marks : 100

N.B.: (1) Question Nos. 1 and 6 are compulsory. HP"'; ] ~1 2
(2) Besides compulsory questions attempt any two questions from each section.
(3) Figures to the right indicate full marks.

Section |
1. (a) Define the following concepts :— 6
(i) Trade Cycles (i) Full employment.
(b) Distinguish between :— 6

(i) Transaction motive and speculative motive
(i) Inflation and deflation.
(c) Comment on the following statements :— 6
(i) Saving depends on income
(ii) Interest is purely monetary phenomenon.

2. (a) What are the factors determining consumption function ? 8
(b) Explain the concept and working of investment multiplier. 8
3. (a) Explain the factors determining MEC. 8
(b) ‘What are the effects of inflation ? 8
4. (a) What are the causes of inflation ? 8
(b) Explain measures to control inflation ? 8
5. Write notes on any two (— 16
(a) Effective demand (c) Velocity of circulation of money
(b) Phases of trade cycles (d) Demand for money.
~ Section 1
6. (a) Define the following concepts :— 6
(i) Bank rate (i) Exchange rate
(b) Distinguish between :— 6
(i) Commercial bank and Central bank.
(i) Cash reserve ratio and statutory liquidity ratio.
(c) Comment on the following statements :— 6
(i) Full employment is objective of monentary policy
(i) Indian money market is organised market.
7. (a) What are the features of Indian money market ? 8
(b) Explain various reforms introduced in Indian money market. 8
8. Discuss the major recommendations of the Narasimham committee of 1991. 16
9. (a) What are the causes of fluctuations in exchange rate. 8
(b) What are the functions of foreign exchange market ? 8
10. Write short notes on any two of the following :— 16

(a) Functions of RBI

(b) Objectives of monetary Policy
(c) Capital market reforms in India
(d\ Foreian exchanae dealers.
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Con. 7-12. (REVISED COURSE) CM-2165
(3 Hours) [Total Marks : 100

N.B. : (1) Question Nos. 1 and 6 are compulsory.
(2) Besides compulsory questions attempt any two questions from each section.
(3) Figures to the right indicate full marks,

Section |

1. (a) Define the following concepts :- 10
(i) Trade Cycles
(i) Full employment
(iii) Demand for money
(iv) Globalization.

(b) Distinguish between :- 8
(i) Demand pull and cost push inflation
(i) Inflation and deflation.

2. (a) Explain the circular flow of national income, 8
(b) Analyse the charging sectoral composition of Indian National Income. 8
3. (a) Explain the role of effective demand in determining level of employment. 8
(b) Discuss the constituents of money supply. 8
4, (a)' What are the effects of inflation ? 8
(b) Discuss the measures to control inflation. 8
5. Write notes on any two :— 16
(a) Phases of trade cycles
(b) Velocity of circulation of money
(¢) Demand for money
(d) IS curve.
Section Il
6. (a) Define the following concepts :(— 10

(i) Disinvestment
(iiy Privatisation
(iiiy Small scale industries
(iv) Inclusive growth.
(b) Distinguish between :— 8
(i) Agriculture and Industry
(i) Small scale industries and large scale industries,

7. (a) Explain the role of agriculture in Indian Economy. 8
(b) Briefly analyse the impact of WTO on Indian Economy. 8

8. (a) What are the problems of SSI in India ? 8
(b) Discuss the concept and impact of SEZs in India. 8

9. Explain significance and growth of service sector in Indian Economy. 16
10. Write notes on any two \— 16

(a) Importance of SSI in Indian Economy
b) National population policy - 2000

c) Concept of knowledge based economy
d) Disinvestment policy in India.
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(8 Hours) [ Total Marks : 100
N.B. (1) Attempt any three questions from each sections including compulsory questions.

(2) Figures to the right indicates full marks.
(3) Question Nos. 6 and 12 are compulsory.

Section |
1. (a) Describe the main features of the Material basis of Primitive Human Society. 8
(b) Explain the significance of the invention of wheel. 8
2. (a) Discuss some significant development in the field of Medicine in an ancient India. 8
(b) Write a detailed note on Feudal Society. 8
3. (a) Whatis LASER Technology ? How it is useful in medical field ? 8
(b) Describe the advantages of Space Technology. 8
4. (a) Explain the role played by C. V. Raman for the development of Science. 8

(b) How Science and Technology have contributed for increasing agricultural 8
productivity ?

5. (a) Bring out the essential features of Industrialisation. 8
(b) Write a note on ‘Materials Management in Agriculture’. 8
6. Write short notes on any three of the following :— 18

(a) Discovery of Fire

(b) Indus Valley Civilization

(c) Contribution of the Arabs in the field of Mathematics
(d) Sir Chandrashekhar Venkata Raman

(e) Problem of Water Pollution.

Section Il

7. (a) Write a note on the role of Agricultural activities in the p"rocess of environmental 8

degradation.
(b) What are the causes and effects of increasing urbanisation ? Explain. 8
8. (a) Differentiate between Traditional diseases and new diseases. 8
(b) Write a detailed note on Hypertention. 8
9. (a) Discuss the achievements of India in terms of Nuclear Science. 8

(b) What are the causes of poor environmental awareness ? What steps are being 8
taken by the government to overcome this problem ?

10. (a) Explain the role of Non-government organization in creating environmental 8
awareness among people ?
(b) What is an Impact of Nuclear Science on Agriculture ? Explain it. 8
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1. (a) What do you mean by Pollution ? What are the different types of pollutants ? 8
(b) Impact of Air Pollution on Human health. 8

2. Write a short notes on any three of the following :— 18

(a) Deforestation

(b) Water pollution

(c) Urbanisation in India

(d) Indian Health Scenario

(e) Bhabha Atomic Research Centres (BARC).
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(F) TaTdIS IR
Con. 13-CM-2057-12.
(F_i_EVISED COURSE)
(3 Hours) [ Total Marks : 100
N.B. (1) All questions are compulsory.
(2) Figures to the right indicates full marks.
(3) Write answer of both the sections in the same answer book.

Section |

1. (a) Define the term of “Human Rights”. Bring out main characteristics of human 6

rights.
OR :
What is the importance of Right to Information ? 6
(b) Explain how Technology is different from Science. 8
OR
Astrology is a branch of Science. Do you agree with the statement or not ? 8
Justify.
2. (a) Discuss “Freedom of Speech” as the Fundamental Rights. 6
OR

State the constitutional provisions made for the protection of Scheduled Caste 6
and Scheduled Tribes.

(b) State the contributions of Dr. Homi Bhabha towards the growth of Science. 6
OR

Briefly describe the inventions made by Einstein. 6
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(a)

(b)

(a)

(b)

(a)

(a)

(b)

(a)

(b)

Describe the powers and functions of National Human Rights Commission.
OR

Explain briefly the roles of some prominent NGO's in India in the protection of

Human Rights.

Discuss the important points of differences between Religion and Science.
OR

Examine the different Inventions of Newton.

Briefly review the role of the National Commission for Women.
OR

Analyze the Fundamental Rights relating to “Freedom of Religion”.

According to you, what are the most important Characteristics of Science ? Explain.
OR

State the importance and use of experiments by Galileo.

Section Il

State the different branches of Ecology. Explain their importance.
OR

Explain the meaning and scope of Environmental Ethics.

What is meant by “Sonography” ? State its misuse for Sex-determination Test.
OR ‘

What are measures to check the Sex-determination Tests ? Explain.

Explain the need of Carbon Bank in Metro cities in India.
OR
Explain the term “Disaster Management”.
State the different areas of Biotechnology.
OR
Discuss briefly the various aspects of Information Technology and its applications.

Write a detailed note on “Waste Management.”
OR
How is one'’s health affected by the Environmental factors ? Explain.
State the progress made by India in the field of Space Technology.
OR
What is Laser ? State the uses of Laser in the various field.

Explain briefly causes, symptoms and treatment in the following diseases :—
(i) Typhoid (i) Chickungunya.
OR
What is Nuclear Power Project ? Discuss briefly their impact on human helath.
What is Cyber Crime ? State the measures to Control Cyber Crimes.
OR
State the advantages and disadvantages of Genetically Modified food.
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N.B.: (1) Attemptany three questions from each secti\g}g\

(2) Tie both the sections together.

(3) Figures to the right indicate full marks.

Section |
1. (a) Define advertising and explain its role in the modern world. _ 8
(b) What are the reasons for waste in advertising ? 8
2. (a) How does advertising affect cultural values of the society ? 8
(b) State the importance of market segmentation. 8
3. (a) What are the essentials of a good poster ? 8
(b) Bring out the need for advertising research. 8
4. (a) What are the advantages of testing advertising effectiveness ? 8
(b) Explain the factors determining advertising budget. 8
5. (a) State the merits and demerits of direct mail advertising. 8
(b) Why is product research essential ? 8
6. Write short notes on (any three) :— 18
(a) Prodcut life cycle (d) Good Slogan
(b) Service advertising (e) Internet advertising
(c) Audit Bureau of Circulation (f) Doordarshan Code.
Section Il
7. (a) Explain the different froms of advertising headlines. 8
(b) Distinguish between radio advertising and television advertising. 8
8. (a) Describe the different types of customers. 8
(b) What are the different buying motives ? 8
9. (a) Explain the functions of an advertising agency. 8
(b) State the essentials of a good copy. 8
10.(a) What are the different types of layout ? 8
(b) What is visualisation ? State the step in visualization. 8
11.(a) Discuss the future of advertising in India. 8
(b) Critically analyse the criticisms levelled against advertising. 8
12. Write short notes on (any three) :(— 18
(a) Clientturnover (d) T.R.P.
(b) Hlustration (e) Brand name
(c) Media planning (f) Advertising and consumer price.
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(REVISED COURSE)

(3 Hours) [Total Marks : 100

N.B.: (1) All questions are compulsory.
(2) Tie both the sections together.
(3) Figures to the right indicate full marks.

Section |
1. Explain the following terms (any five) :—
(a) Advertising (fy Clutter
(b) Marketing mix (g) AAAI
(c) Internet Advertising (h) TRP
(d) Modeling (i) Transit Advertising
(e) Salesmanship (j) Political Advertising.

2. Answer the following (any three) :—
(a) Explain the active participants in advertising.
(b) Bringout the need for media research.
(c) How does advertising raise standard of living ?
(d) Explain the impact of advertising on production cost and distribution cost.
(e) Discuss the services offered by an advertising agency.
(f) Explain the career options available in advertising field.

3. Write short notes on (any two) :—
(a) Ethics in Advertising (c) National Readership Survey
(b) Client Turnover (d) Zipping and Zapping.
Section li
4. Explain the following terms (any five) :—
(a) Advertising Compaign (f) Logo
(b) Visualisation (g) Hard Selling Skill
(c) Testimonial (h) Copy
(d) Caption (i) Demonstration
(e) Advertising Budget (j) Layout.

5. Answer the following (any three) :(—
(a) Explain the objectives of advertising campaign.
(b) What factors affect on advertising budget ?
(c) Explain the different types of copy.
(d) What are the functions of an illustration ?
(e) Bring out the importance of research in advertising.
(f) Explain pre-testing methods of testing advertising effectiveness.

6. Write short notes on (any two) :(—
(a) AIDA Formula (c) Out-door Advertising
(b) Slogan (d) Fantacy in Advertising.
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